CONFIDENTIAL .

KANSAS CORPORATION COMMISSION ORIGINAL
OIL & GAS CONSERVATION DIVISION
WELL COLOR

Form ACO-1 September 1999 Form Must Be Typed

### OCT - 3 2606 KCC MICHITA

RECEIVED

#### WELL COMPLETION FORM

**WELL HISTORY - DESCRIPTION OF WELL & LEASE** 

\*\*Approx. 5' S & 228' W of

KCC WICHTIA	
Operator: License #	API No. 15 - 171 - 20326-00-01
Name: Lario Oil & Gas Co.	County: Scott
Address: 301 S. Market St.	<del>***</del> - <u>SW</u> - <u>NW</u> Sec. <u>15</u> Twp. <u>19</u> S. R. <u>33</u>
City/State/Zip: Wichita, KS 67202  Purchaser: Plains Marketing UCI 0.7 2	105 3295 feet from S (N)(circle one) Line of Section
Plains Marketing	4848 feet from E /(W)(circle one) Line of Section
Operator Contact Person: Jay G. Schweikert CONFIDEN	Footages Calculated from Nearest Outside Section Corner:
Phone: ( <u>316</u> ) <u>265-5611</u>	(circle one) NE SE (NW) SW
Contractor: Name: Murfin Drilling Co., Inc.	Lease Name: Feiertag "A" Well #: 8-15 RE
License: 30606	Field Name: Millrich Southeast
Wellsite Geologist: Vern Schrag	Producing Formation: Cherokee Lime & Morrow
Designate Type of Completion:	Elevation: Ground: 2958 Kelly Bushing: 2968
New Well Re-Entry Workover	Total Depth: 5102 Plug Back Total Depth: 4795
✓ Oil SWD SIOW Temp. Abd.	Amount of Surface Pipe Set and Cemented at Feet
Gas ENHR SIGW	Multiple Stage Cementing Collar Used?   ✓ Yes   No
Dry Other (Core, WSW, Expl., Cathodic, etc)	If yes, show depth setFeet
If Workover/Re-entry: Old Well Info as follows:	If Alternate II completion, cement circulated from Surface
Operator: K&E Petroleum, Inc.	feet depth to 2788 w/ 675 sx cmt.
Well Name: Collingwood Trust "A" #1	Drilling Fluid Management Plan WONGS-1-03
Original Comp. Date: 04/06/1986 Original Total Depth: 4801	(Data must be collected from the Reserve Pit)
Deepening Re-perf Conv. to Enhr./SWD	Chloride content 12,000 ppm Fluid volume 1200 bbls
Plug Back Plug Back Total Depth	Dewatering method used evaporation
Commingled Docket No. applying	Location of fluid disposal if hauled offsite:
Dual Completion Docket No	·
Other (SWD or Enhr.?) Docket No	Operator Name:
06/10/06 06/12/06 08/21/06	Lease Name: License No.:
Spud Date or Date Reached TD Completion Date or	Quarter Sec Twp S. R East West
Recompletion Date Recompletion Date	County: Docket No.:
INSTRUCTIONS: An original and two copies of this form shall be filed with t Kansas 67202, within 120 days of the spud date, recompletion, workover Information of side two of this form will be held confidential for a period of 12 107 for confidentiality in excess of 12 months). One copy of all wireline logs a TICKETS MUST BE ATTACHED. Submit CP-4 form with all plugged wells.	or conversion of a well. Rule 82-3-130, 82-3-106 and 82-3-107 apply.  months if requested in writing and submitted with the form (see rule 82-3- and geologist well report shall be attached with this form. ALL CEMENTING
All requirements of the statutes, rules and regulations promulgated to regulate herein are complete and correct to the best of my knowledge.	e the oil and gas industry have been fully complied with and the statements
Signature: Ley & Schweibert	KCC Office Use ONLY
Title: Operations Engineer Date: 10/02/06	Letter of Confidentiality Received
Subscribed and sworn to before me this 2 nd day of October	tf Denied, Yes Date:
20_06	Wireline Log Received
Notary Public: Notary Public - State of Kansas	Geologist Report Received  UIC Distribution
My Appt. Expires 10 as 06	

Operator Name:	Lario Oil & Ga	s Co.		Lease	e Name:_	Feiertag "A"		. Well #:8-	15 RE			
Sec Twp	<sup>19</sup> S. R. <u><sup>33</sup></u>	East	✓ West	Count		cott						
tested, time tool ope temperature, fluid re	how important tops a n and closed, flowing covery, and flow rate is surveyed. Attach f	g and shut- s if gas to s	in pressures, surface test, a	whether s long with t	hut-in pre	essure reached	static level, hydros	static pressur	es, botto	m hole		
Drill Stern Tests Take		☐ Ye	s 🗸 No		VL	og Formatio	on (Top), Depth ar	nd Datum		Sample		
Samples Sent to Ge	ological Survey	<b>✓</b> Ye	s 🗌 No		Nam	е		Тор	ı	Datum		
Cores Taken		Ye	=		Hee	bner		3826	-	858		
Electric Log Run (Submit Copy)		<b>√</b> Ye	s 🗌 No		Lans	sing		3877	-	909		
List All E. Logs Run:				Base	KC		4290	-	1322			
•					Į.	okee Shale		4429		1461		
GR-DIL-CNL/	CDL-MEL-BC	S			Miss	ssippian		4643	-	1675		
	,											
		Report		RECORD	✓ No	ew Used	ion etc					
Purpose of String	Size Hole Drilled	Size	Casing (In O.D.)	Wei	ight	Setting Depth	Type of Cement	# Sacks Used		and Percent		
Surface	12.25"	8-5/		LOS.	7 - 1.	372	Common	240		udilives		
Production	roduction 7.875"		/2"	15.5		5102	AA-2	300 10% sa		t +1/4# CF+ ***		
DV Too	ol					2788	A-Con Blend	675	1/4# C	F + 3% CC		
			ADDITIONAL	CEMENTI	NG / SQL	JEEZE RECORD						
Purpose:	Depth Top Bottom	Туре	of Cement	#Sacks	s Used		3					
Protect Casing Plug Back TD Plug Off Zone						***Cont. Lead	d Additives: 0.8% FLA + 0.2% DF + 0.25% CFR					
Shots Per Foot			O - Bridge Plug ach Interval Per				ture, Shot, Cement and Kind of Mat		rd	Depth		
4	4628' - 4638'					500 gal 7.5%	NEFE			4628		
				71.2		7,450 65Q N2	Delta + 36,770#	12/20 Brady		4628		
4	4559' - 4563'	•				500 gal 15% N	IEFE			4559		
TUBING RECORD	Size	Set At		Packer A	At .	Liner Run				L <u></u>		
	2-7/8"	4607		none			Yes 🗸 No					
Date of First, Resumer 09/14/06	d Production, SWD or E	nhr.	Producing Meth	nod [	Flowing	g ✓ Pumpir	ng Gas Lift	Othe	er (Explain	)		
Estimated Production Per 24 Hours	l l	Bbls.		Mcf	Wate		ols. Ga	as-Oil Ratio		Gravity		
Disposition of Gas	15 METHOD OF C	OMPLETION	TSTM		· · · · · · · · · · · · · · · · · · ·	145 Production Inter	val			26.1		
Vented Sold	Used on Lease	]	Open Hole	<b></b> Perf		Oually Comp.	Commingled					
(If vented, Su	ıbmit ACO-18.)	[	Other (Specia	fy)								



#### SALES OFFICE:

100 S. Main Suite #607 Wichita KS 67202 (316) 262-3699 (316) 262-5799 FAX

#### SALES & SERVICE OFFICE:

10244 NE Hiway 61 PO. Box 8613 Pratt, KS 67124-8613 (620) 672-1201 (620) 672-5383 FAX

#### SALES & SERVICE OFFICE: 1700 S. Country Estates Rd

1700 S. Country Estates Rd. P.O. Box 129 Liberal, KS 67905-0129 (620) 624-2277 (620) 624-2280 FAX

#### Invoice

		11110						
Bill to:		5138010	Invoice		ice Date	Order	Station	
	LARIO OIL & GAS	L	606117	6.	/12/06	12923	Liberal	
	P.O. Box 784	RECEIVED			Service De			
	Hays, KS 67601				(Cem		tring cosin	
	<b>,</b> ,	OCT - 3 2006		Lease		Well		
		KCC WICHITA		Feiertag	5	A8-1		
			0	AFE	30	PÛ	Term Net 3	
	& Customer	Rep		;	Tred	iter ;	1100	
***	L. Karl	marks and a backman later of a factoring fig		A	M. Lor		and the second of the second s	
ID.	Description			<u>UOM</u>	Quantity	Unit Price	Price	
D105	AA2 (PREMIUM)			SK	300	\$17.45	\$5,235.00	(T)
D101	A-CON BLEND (PREM	IIUM)	•	SK	700	\$17.85	\$12,495.00	(T)
C195	FLA-322	K	CC	LB	220	\$7.50	\$1,650.00	(T)
C221	SALT (Fine)		2 2006	GAL	2820	\$0.25	\$705.00	(T)
C243	DEFOAMER			LB	57	\$3.45	\$196.65	(T)
C194	CELLFLAKE	CONFID	PENTIAL	LB	250	\$3.70	\$925.00	(T)
C310	CALCIUM CHLORIDE			LBS	1974	\$1.00	\$1,974.00	(T)
C302	MUD FLUSH			GAL	500	\$0.86	\$430.00	(T)
F101	TURBOLIZER, 5 1/2"			EA	18	\$74.20	\$1,335.60	(T)
F251	TWO STAGE CEMENT	COLLAR, 5 1/2"		EA	1	\$4,583.00	\$4,583.00	(T)
F181	WEATHERFORD LAT	CH DOWN PLUG & BAFFLE	E, 5 1/2"	EA	1	\$726.00	\$726.00	(T)
F121	BASKET, 5 1/2"			EA	1	\$237.50	\$237.50	(T)
F800	THREADLOCK COMP	OUND KIT		EA	1	\$30.00	\$30.00	(T)
F274	WEATHERFORD CEM	ENTING SHOE PACKER TY	PE, 5 1/2"	EA	1	\$3,133.00	\$3,133.00	(T)
E100	HEAVY VEHICLE MIL	EAGE - 1 WAY		MI	285	\$5.00	\$1,425.00	
E107	CEMENT SERVICE CH	IARGE		SK	1000	\$1.50	\$1,500.00	
E104	PROPPANT / BULK DE	ELIV SERVICES/TON MILE,	\$200 MIN	TM	4465	\$1.60	\$7,144.00	
R210	CASING CEMENT PUT	MPER, 4501-5000' 1ST 4 HRS	ON LOC	EA	1	\$1,827.00	\$1,827.00	
R701	CEMENT HEAD RENT	`AL		EA	1	\$250.00	\$250.00	
E101	CAR, PICKUP OR VAN	NMILEAGE - 1 WAY		MI	95	\$3.00	\$285.00	
R402	CEMENT PUMPER, AI	DDITIONAL HRS ON LOCAT	TION	HR	3	\$210.00	\$630.00	
S100	FUEL SURCHARGE	W OC .	<del></del>		1	\$474.48	\$474.48	
		Acct. Expl. File	OK UP PRV					
		GC	7/			Sub Total:	\$47,191.23	
	_	JUN 26 200	06/			Discount:	\$8,758.01	
	2	X TELLET				Sub Total:	\$38,433.22	
	<i>\</i>	L LICE KF GV	Scott county &		Rate: 6.309	_	\$1,726.81	
		OD		(T	) Taxable Item	Total:	\$40,160.03	

## **RECEIVED**

OCT - 3 2006

# JetStar

## KCC WICHITA

TREATMENT REPORT

Customor	<del></del>			•	11/10			FF .C	36 O 36	<u> </u>	г= .					
Customer	10 01	i /-	<u>s</u>			ease No.					Date					
LeaseFeie	cda	A	1		V	Vell #	8-1	15			I		2-0	4		
Field Order	# J Statio	n	beral					Casing	Depth	1864	Count	۷ کرے	H		State KS	
Type Joh,	2 Stace		ac Str	ing					Formation	1			Legal De	escription	192-336	
PIP	E DATA		PERI	ORAT	TING	DATA		FLUID	USED			TREAT		RESUME		
Casing Size	Tubing Si	ze	Shots/F	t	30	0 5/5	1/2	tA2 6	14.8 4/4	<u> </u>	RATE	PRES	S	ISIP	KCC	
Depth 264	Depth		From			625 de		Pad	12.2 #/acl	Max				5 Min. OCT 0 2 201		
Volume 1	Volume		From		То		Pad			Min				10 Mip	MEIDENTIA	
Max Press	Max Pres	s	From		То		Frac			Avg				15 Min.	ALIDEIS I SU	
Well Connecti			From		То		_			HHP Used				Annulus F	Pressure	
Plug Depth	Packer D	epth	From		То	·	Flu			Gas Volun	ne		_	Total Load	1	
Customer Re	presentative	Ka	11:2			Station	Man	ager Je	My Benne	#	Trea	ater Mi	chool	Lorda	· la	
Service Units	BY	B	4	744	475	1335	SZ	217	126	338/50	۷			7		
Driver Names	Melyel	2	ack.	Ton	<u> </u>	Huzo		Abel	Kirky	Alfonso						
Time	Casing Pressure		ubing essure	Bbls	. Pum	ped		Rate				Service	Log			
2000					·				on loca	tion /t	NP C	0.1	0. / w	vaiting		
2027				ļ ļ					B.P. out	of hale	<u>/~z</u>	UP C	asing /	waiting		
3139		ļ							Start co	slag +	Flout	equipa	1ent			
2319					····				hitak	vidje /	Cice	ulate u	vell			
2337								_	re-Start	runnin	$\langle \rho \rangle$	oe			<del>,</del>	
2342					<del></del>			•	casing c	ren bro	de L	1-joint	and	rielie/	circulate nel	
0015									Casing (	cireis M	<u>39:ns</u>	down	Luni	+ for a	nother crew	
ळ६७								<del></del>	+Instal	Cunning	float	egup	man 1			
<u> </u>									rigged	م م				-	٦.	
0450	40								1 , "/		<del>set</del>	pricke	er show	<u> </u>		
0530	1200				_				1 /.	der ska	<u> </u>					
0277		1		2				5	punped					· <i>-</i>		
0530	300			/。				<u>5</u> ~~	pumped		sh	-				
0540	ე პ <b>ა</b> ა				5 80			5 45	pumped	water					<del></del>	
0548	2 <u>a</u> u				<u> </u>		<del>6</del> 4	٧.٧	1///	Hon s	ر		×		<del></del>	
06/0						$\dashv$			1 / /	pump +	i	-				
06/4	250			1,	16		4	<del></del>	,	I	שלים	11/	2 1/	/-	1	
0768	800				φ		2		pump di	. 1	_		1 Ha		<u>ud</u>	
	000						_&		bung p	7	went			psi as	requested)	
0710									cherk /	/ release			hold			
17470									DV to		<u>4+</u> 10	15 A	ndaute:	3 hou		
	1 NE Hiw		C1 - 5	\ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \	_	8613	Đ٣٤	att KC	DV to	o den		1 0/4 1201			72-5282	

**RECEIVED** 

OCT - 5 7706

KCC WICHITA

# **KCC** OCT 0 2 2008

## CONFIDENTIAL





		5 E R (	1110								•						
Customer L	ano oil	+ A		Lease No.						Date							
Lease -			A	Well #	8-1:	<u> </u>	-		6-12-06								
Field Order	# Station	Liberal	<del>,                                     </del>		<u> </u>	Casing	5.5#	Depth	4864	County Scott State K 5							
Type, Job		stalas					For	mation //e	_			Legal D	escription	19N- 33W			
PIP	E DATA	PERI	FORATING	S DATA		FLUID	USED	·	TREATMENT RESUME								
Casing Size Tubing Size Shots/Ft				300 sts	A	AA-2	Q 13	12#	F	RATE	SS	ISIP					
Depth 27&S	Peth Depth From T			Due-Dard 4			10 12.	7.7	Max		-		5 Min.				
Volume. 7	Volume	From	То		Pad				Min				10 Min.				
Max Press	Max Pres	From	То		Frac	c			Avg				15 Min.				
Well Connecti		From	То						HHP Used				Annulus P	ressure			
Plug Depth	Packer De	. I From	То		Flus				Gas Volum			-	Total Load				
Customer Rep	presentative 2	, .	برائم	Station	Mana	ager Jerry	y Be	nnet	0 6 '	Treat	er N	Pichad	Lorden	in			
Service Units	B4	B4	344/675	735/5	26	<u> 207</u>	136		ys/27								
Driver Names	Michael	Zek	Tony	Hugo		Abel	Kin	2/	Alfro								
Time	Casing Pressure	Tubing Pressure	Bbls. Pur	mped		Rate					Servi	ce Log					
-							ria	UP	to Sta	M C	eme	ΛŢ		·			
1110	275		304		5 pomp top sta					tage coment							
/435							got	cm	+ return	15			<del></del>	···			
<i>W</i> 37							Wa	$sL_{\rho}$	ung +	linas							
1242							dre	الم م	sing pl	uq							
1243	250		66			<u> 7.5</u>	pump displacement unter										
/300	-					<u> </u>	564	<u>۸</u> ر	te								
/3/0	/000						bun	P	<del></del>	went	<u>+</u> >	- 220	00				
13/2							Che	k t	<del>201 / 1</del>	sol c	<u>عنداء</u>						
1320							plue	m	use hale	and	1 /	at hold	2				
1328 1336						i	Was		· · · · · · ·			<del></del>		<del></del> -			
7330							<u> </u>	davi				·	<del></del>				
													·,				
<del></del>							_					<del></del>	<del></del>				
											<del></del>		<del>.</del>				
						-			<del> </del>			<del></del> -		<u>-</u>			
										<del></del>							
												<del></del>					
			·						· · · · · · · · · · · · · · · · · · ·					·			
				0040			7404	004	(000)	0=0			(620) 67				

# LARIO OIL & GAS COMPANY



301 SOUTH MARKET STREET WICHITA, KANSAS 67202 (316) 265-5611 FAX: (316) 265-5610

RECEIVED

OCT - 3 2006

KCC WICHITA

October 2, 2006

Kansas Corporation Commission Oil & Gas Conservation Division 130 S. Market, Room 2078 Wichita, KS 67202

KCC
OCT 0 2 2008
CONFIDENTIAL

RE: Confidentiality Request for Logs and Drilling Information

Feiertag "A" #8-15 RE 5S & 228W of SW NW Sec. 15-19S-33W

API #15-171-20326-00-01

Scott Co., KS

Gentlemen:

Please find enclosed the following items for the referenced well:

Electric Logs

by D. Schwarkert

ACO-1

Geology Report Cementing Invoices

Lario requests that all of the information concerning this well be kept confidential for the maximum time allowable by KCC Regulations. If you require any additional information, please feel free to contact me.

Sincerely,

Jay G. Schweikert Operations Engineer

Encl.

XC: File, Hays Office